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20<des 50
Ml 40 L4 (20|29 |41 |60 |80 [|120|160[23.0(330(46.0
A<l 80 L7 (2.4 |34 |48 |70 |95 |14.0|19.0]27.0|380]5.0
A=h=10 12 |17 |24 |34 |48 |65 |05 |[130]190|27.0]380
b= 20 L3 (1o |27 |38 |55 (7.5 |1.0|1530(21.0|30.0]43.0

Sz 125
Ml a0 1.5 |21 |30 |43 ]| 60|85 i:.g,l 4.0 | 340|480
anhes 80 LE |25 |35 |50 70 w0 ;5'.2 6.0 | 400 | 56.0
4=h10 1.3 (1.8 |25 |36 |50 |7 T\u.n W0 |29 0[41.0
<h=20 L4 (20|28 |40 |55 010|230 320450

125 a= 280
Hech = 4] L6 [ 22|32 |45 13,0 | 180 | 25.0 | 36.0 | 51.0
Ak 80 LE | 2.6 | 37 | 5.0 Qr_ ;-mu 15.0 | 2L.0 | 20.0 | 42.0 | 59.0
<= 20 1.5 (22|30 |4 oxY 55 [120[1m 020300
M80cd= 560 | b0 L7 | 2:8 3.< : 0 |95 140|190 |27.0 |38 0|0
A<l 80 L9 | 2.7 .-Ql\. 80 [ILO|16.0|220|31.0 | 440|620

\ L
5 %50 fmna pan
41 FE W B % f‘ﬂ{\- B ek

el mm 4 5 6 7 8 9 10 11
3o [ 95 [wo|lwolmol|so]seo|7mo|mo

S
: £0 [ 1L0|16.0|23.0|32.0 |45 0 |64.0 | 9.0 [120.0
0| 70 [ 0.0 | 14.0 [ 20,0 | 20,0 [ 410 | 58.0 | 8§20 |115.0
; 6.0 | 5 | 120 [17.0 | 24.0 | 34.0 |48 0 [68.0 | 960 [135.0

20 50
15 48 (7.0 |95 |40)|19.0|27.0 (380|540 77.0 |1080]153.0
G<m,, i 55 [ B0 100|160 |220 300|440 630|800 |1250][177.0
0.55m <2 [ 30 |55 |80 [1L0]16.0 220 |31.0 | 440|620 |80 [124.0
2am,£3.5 | 4.5 | 6.5 | 9.0 [13.0|18.0(25.0|36.0 510|720 |102.0|144. 0

S 125
3 Sam, =6 | 5.0 | 7.0 [ 1000 | 140|200 (20,0 |40.0 [ 57.0 | £1.0 |115.0|162. 0
Gz, = 10 60 | B0 | 120|160 230|330 (47.0 | 660|930 |132.0]186. 0
0.5=m =2 |43 [ 6.0 | &5 [1Z20]17.0 | 24.0 | 34.0 | 40.0 | 60.0 | 97.0 [137.0
Zom, €35 |49 |70 (00| o|0(3wol|wo|560)| 70| 11L0[157.0

125 = 280
3. 5am, 6 | 55 | 7.5 [1LO|150|22.0 (3.0 |44.0 620|880 |124.0[175.0
iz, = 1) 6.0 | 9.0 |120) 180 (250|350 | 50.0 | 700 |100. 0| 141.0 | 199. 0
0.5=m =<2 |48 [7.0 |95 |4o|wo|Zo|wo|s4e0|77.0[1000][154.0
Zom,<3.5 |55 | 7.5 [1Lof1s0|2.0(31L0 |4 0620|570 1230[1740

Tl e 560
3. 5am, =6 | 6.0 | B.5 |120[17.0(|24.0 [ 34.0 [48.0 |68 0 | 96.0 |136.0(192.0
fiin, == 101 6.5 [ 0.5 | 130 19.0 |27.0 | 380 | 54.0 | 76. 0 | 108. 0|153.0|216. 0




B0 ERESSEEF,

S MG g i 4
S mim i mm 4 5 & 7 8 q 10 1
0.2=m, 0.5 | 7.5 11 13 21 30 42 ol 85
0. Sm, =0, § 8.0 12 16 1 33 46 o6 o3
0. Bem, = 1.0 9.0 12 18 5 35 50 70 100

S=d=10

I.0om, <15 10 14 19 7 3 54 76 108
1. 5em, <25 1 16 22 k) 45 63 £ 126
2. 5<m, =4.0 14 0 28 kY 56 79 112 158
0.2€m 0.5 | 9.0 13 19 26 a7 52 74 105
0.5am, =0 & 10 14 20 8 40 56 8 113
0.8am, =1.0 I 15 21 £ 42 60 85 120
socqesa | TOSmELS 1 16 23 32 45 p a1 128
1.5am =25 13 18 26 37 103 146
2. 5am, <4.0 16 b} 31 4 %‘ 9 126 178
4.0am, 6.0 ) % 39 515< 11 157 272
6. O<m, =10.0 b a7 52 /Bk §-rm 147 09 295
0.2€m, 0.5 12 16 23 \&" 46 66 93 131
0. Sam, <0, & 12 17 b 49 0 9% 139
0. 8em, 1.0 13 18 %I EN 52 73 103 146
e s | 1O 14 néq; kY 55 77 109 154
1.5<m, =25 15 :\ Y 43 61 86 122 173
2.5am, 4.0 1 \%} 36 51 72 102 144 204
4.0am, <60 | - b Al 44 62 8% 124 176 248
6. D<m, =10, =30 57 Eil 114 161 227 321
30 a2 60 85 120 170
% k]| M 63 59 126 178
b3 33 46 65 92 131 185
S 24 34 a8 [ 97 137 193
19 26 a7 53 75 106 149 211
21 n 43 61 £ 121 172 243
15 n 51 72 102 144 03 287
6. O<m, =10.0 a2 45 64 a0 127 180 155 B
0.2=m =0.5 19 ) 39 55 T8 110 156 220
0. S<m, =08 0 9 40 57 81 114 161 228
0. 8am, <1.0 11 b 42 59 0 117 166 235
socdasey | 0SS n a0 43 61 86 122 172 243
1. 5em, <25 n 33 46 &5 92 131 185 262
2. 5am, =4.0 26 a7 52 73 104 146 07 243
4. 0<m, 6.0 30 42 60 8 119 169 239 337
6. O<m, =10.0 36 51 73 103 145 05 90 410




#i-1 —EHRASESREL s
SrEE I B i L
el mm S 4 5 [ i & ] 10 1
0.2m, =05 1.0 2.0 3 3.5 5.0 7.0 10 14
0. 5cm, =0, 8 2.0 25 4.0 5.5 75 11 15 n
0. 8<m £1.0 2.5 3.5 5.0 7.0 I 14 0 8
S d =
1.0<m =15 3.0 4.5 6.3 a.0 I3 18 5 36
1.5cm, =25 4.5 6.5 95 13 19 26 a7 53
2. Sem, =40 7.0 10 14 0 0 41 E £2
0.2&€m_ <0. 5 I.5 2.0 x5 1.5 5.0 7.0 10 14
0. 5<m =08 2.0 35 4.0 3.5 75 11 15 »
0. Bem, =1.0 2.5 3.5 5.0 7.0 i} 14 0 %
—— 1.0cm,=1.5 3.0 4.5 6.5 9.0 13 ) 5 k'
1.5<m, =25 4.5 6.5 9.5 13 i a7 53
2.5cm 4.0 7.0 10 14 0 L 1 38 K2
4 Ocm, =60 1§ 15 72 3§< 61 &7 173
6. O<m, =10.0 17 4 34 /4‘* §11 a5 135 190
0 2=m,=05 | L5 2.0 25 PEEY 50 7.5 10 15
0. 5<m =0 § 2.0 3.0 4 £.0 11 I6 »
0. 8am, =10 2.5 15 %/ 7.0 1 14 0 b ]
1.0cm,=1.5 3.0 4 q::_ 9.0 I3 18 % 36
e 125
1.5<m =25 4.5 b, 9.5 13 19 26 37 53
2. 5cm 4.0 7 14 0 i) 41 3K £2
4 0cm, 6.0 | m b 22 31 A 62 &7 123
6. 0<m, =10.0, L =4 34 48 67 05 135 191
0. 2=in = (. 7 Prbe 25 35 5.5 7.5 11 15
0.5« 4.0 5.5 8.0 11 16 n
i 5.0 7.0 i} 14 0 )
R 6.5 9.0 13 1% 26 36
I. as 13 19 27 a8 53
2.5 : 15 21 i 41 L 12
4. O<m, =60 11 15 22 31 a4 62 £7 124
6. Oam, =10.0 7 24 34 4% 67 95 135 191
0.2%m <0. 5 1.5 2.0 5 4.0 5.5 7.5 1 15
0. 5<m =08 2.0 3.0 4.0 5.5 £.0 11 16 23
0. Bem, =10 .5 3.5 5.0 7.5 10 15 21 b
1.0cm, = 1.5 3. 4.5 6.3 a.0 I3 I8 % k1)
Tk ol =2 560
1.5<m =25 5.0 6.5 95 13 19 27 g 54
2. 5<m, 4.0 7.5 10 15 21 bt 41 59 B3
4. Ocm, =60 1 15 2 31 7 62 88 124
6. Oam, =10.0 17 24 34 48 68 96 135 191




#E-12 SR F, pLm

M His i e
afmm g mm I 2 3 4 5 L] 7 ] 9 10 11
0.5m =20) 25 |30 |45 |65 |90 13 I8 5 36 =1 T2
Semd ==
2 0cm =35 | 25 | 3.5 |45 |65 |95 13 19 7 38 i3 75
0.5=m <=20) 30 | 4.0 |55 |80 11 16 23 32 46 G5 92
2 0cm =3.5 | 30 | 4.5 | 60 | 8.5 12 I7 24 M 47 &7 95
2ed= 5
3. 5am =6.0 | 3.0 | 4.5 | 60 | 8.5 12 17 25 5 49 70 L9
6. Do = 10 15 | 4.5 65 |95 13 149 26 7 32 74 105
05=m =20 50 | 7.5 10 15 21 st 42 59 83 118
2 0cm =35 | 4.0 | 5.5 ]| 7.5 11 15 1 ELL 6l B6 121
Sledes 125
3.5cm =6.0 | 4.0 | 5.5 | 8.0 11 16 s 35) 62 &R 125
6. Ozm, = 10 4.0 | 6.0 | B0 12 16 23 ‘r:« 63 92 131
05=m =20 50 | 7.0 10 14 20 55 T8 110 156
2. 0cm,=3.5 | 50 | 7.0 10 14 2 L] 56 &0 113 159
125 = 280
3. 5<m,=6.0 | 5.0 | 7.0 10 14 41 58 B2 I15 a3
6. Do, == 10 55 | 7.5 11 .‘Ej 5 E I 42 [l B3 12X 164
0.5=m,<20| 65 | 9.0 |3< lRXﬁ 3 | st | 7 | w3 | 146 | 208
2 0cm, =35 | 65 | 9.0 & 26 El) 52 T4 105 148 | @
TR oz 560 I
3. 5am,=6.0 | 6.5 | 9. 1 19 27 kL 33 73 106 | 130 | 213
6. Ozm, == 10 7. HJ,;'% 14 19 27 ) 55 T 109 | 155 | 219
L f‘ a—_
5. YR LB 2

GB/Z 18620.3—2008 K45 th ke @I i OB 22 £ f, IMA. P 8-14 AI{ES%.

W 8-14 iR LB R 2 £ f,
AR S A
6. 1A ¥ Bl ) 42 Ak BXE A

WHEENC G 1Al B 5T LB 3R 8-15.
[} 8-15 L #E T Ja AT A5 (3 H GB/Z 18620.4—2008)

iS4 & A E 4 E o 7 280 U T 7 BE ) 1
ABRTER 50% T0%(50%)

56 45% 50%(40%)

7B 35% 50%(40%)

9~12 % 25% 50%(40%)

B SRR AR N R
TR ERS A%



	2.齿面公差 (摘自GB/T 10095.1—2022/ISO 1328-1:2013）
	3.径向综合公差(摘自GB/T 10095.2—2023/ISO 1328-2:2020）

